thm_2FEres__quan 2ERES__ABSTRACT_EQUAL
(TMQkponCLFs-
BGHGex7TrBN1Xb8WwTchiEofR)

October 26, 2020

Let ¢ 2FEbool 2ERES__ABSTRACT : 1=1=- be given. Assume the follow-
ing.
VA 27a.nonempty A_27a=YA_27b.nonempty A_27b=c_2FEbool 2ERES__ABSTRACT
A27a A2Tb € (((A_27pA-27a)(A-27b77270)) (24277,
(1)

Definition 1 We define c 2Emin_2E_3D to be A\A.\x € A y € A.inj_o (x = y)
of type t=-t.

Definition 2 We define c_2Ebool 2EIN to be AA_27a : 1.(AV0z € A27a.(AV1f € (24-27%).(ap V1f VO02)))

Definition 3 We define c.2Emin_2E_3D_3D_3E to be AP € 2.\Q € 2.inj_o (p P=p Q)
of type ¢.

Definition 4 We define c 2Ebool 2ET to be (ap (ap (c_2Emin 2E_3D (22)) (A\V 0z € 2.V0z)) (A\V1z € 2.V
Definition 5 We define c_22Ebool 2E_21 to be A\A_27a : t.(A\VOP € (24-27%).(ap (ap (c.2Emin_2E_3D (24-27
Definition 6 We define c_2Ebool _2E_2F_5C to be (A\V0t1 € 2.(AV'1t2 € 2.(ap (c-2Ebool _2E_21 2) (AV2t € ¢
Assume the following.

VA_27a.nonempty A_27a=VA_27b.nonempty A_27b=(
(YVOp € (24-279).(VV1m € (A27b4-27%) (VV 2z €
A27a.((p (ap (ap (c.2Ebool 2EIN A_27a) V2x) VOp))=((ap (ap (ap
(c-2Ebool 2ERES__ABSTRACT A_27a A27b) V0Op) V1im) V2z) = (ap V1im
V22)))A(VV3p € (24-27).(YVdm1 € (A27bA-279).
(YVEm2 € (A2764-279).((VV6x € A27a.((p (ap (ap (
c_2Ebool 2EIN A_27a) V62) V3p))=((ap V4ml V6z) = (ap Vim2 V6zx))))=
((ap (ap (c.2Ebool 2ERES__ABSTRACT A27a A27b) V3p) V4dml) = (ap
(ap (c2Ebool 2ERES__ABSTRACT A27a A27b) V3p) V5m2)))))))
2)



Theorem 1

VA_27a.nonempty A 27a=YA_27b.nonempty A_27b=(
YV Op € (24-270).(YV1ml € (A27b4-270) (YV2m2 €
(A2764-270) ((VV3x € A27a.((p (ap (ap (c-2Ebool 2EIN
A_27a) V3z) VOp))=((ap V1Iml V3z) = (ap V2m2 V3x))))=((ap (ap (c2Ebool 2ERES__ABSTRAC"
A27a A27b) VOp) VIiml) = (ap (ap (c.2Ebool 2ERES__ABSTRACT A_27a
A27b) VOp) V2m2))))))



